ggd

ud gd ud ud ooooobod
1 = ggd E 75,000
2 = ggd E 50,000
T3 = goo E 37,500
T3 = gogod E 37,500
) = goo E 30,000
T6 = goo E 28,500
T6 = goo E 28,500
8 = goo E 27,000
T9 = ggd E 24,500
T9 = ggd E 24,500
T9 = ggd E 24,500
T9 = ggd E 24,500
T13 = goo E 20,500
T13 = goo E 20,500
T13 = g E 20,500
T13 = goo E 20,500
T17 = ggd E 17,250
T17 = ggd E 17,250
T17 = ggd E 17,250
T17 = ggd E 17,250
T17 = ggd E 17,250
T17 = ggd E 17,250
T23 = ggd E 13,962
T23 = ggd E 13,962
T23 = ggd E 13,962
T23 = ggd E 13,962
T23 = ggd E 13,962
T23 = ggd E 13,962
T23 = ud E 13,962
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ggd

T30

T30

T30

T30

T30

T35

T35

T35

T35

T35

T35

T35

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

12,200
12,200
12,200
12,200
12,200
9,975
9,975
9,975
9,975
9,975
9,975

9,975
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